
HIGH FREQUENCY IMMERSION VIBRATOR
MENEGOTTI PARTS LIST



02

Exploded View / Spare Parts�

33

37

34

35

15

7

5

16 14

10
25

17 2 8

3

9

32 30

1

11

12

13

3129

DESCRIPTION CODE
UNIVERSAL ELEC.MOTOR LUPO 115V 50-60Hz 296030

POS. DESCRIPTION QTY CODE
1 LUPO-O CONNECTOR POSITION SET 1 96052
2 CABLE CLAMP 1 96210
3 SWITCH ASSEMBLY 1 103933
5 SCREW ALLEN M5×15 DIN 912 1 102305
7 LONG PLUG SCREW 5 96007
8 CABLE PROTECTOR 1 96010
9 NEMA CONNECTION CABLE ASSEMBLY 0.5m 1 97817
10 CABLE COVER 1 96002
11 ROTOR + STATOR 115V LEFT 1 96046
12 LUPO HOUSING 1 96001
13 LOCKING NUT M5 DIN 985 18 102232
14 SCREW ALLEN M5×25 DIN 912 7 102307
15 SCREW ALLEN M5×85 DIN 912 10 102350
16 SCREW COVER 13 96006
17 SCREW. R/PLATE 3,9×22 DIN 7982 2 102541
25 FILTER 1 96003
29 BRUSH HOLDER 2 97805
30 BRUSH HOLDER CAP 2 97804
31 BRUSH 115V 2 103659
32 O-RING 23x2 2 101893
33 LUPO-O VALVE 1 96051
34 PIVOT NUT 1 96133
35 FEMALE T-KNOB SR1539 M8 1 107516
37 PIVOT 1 96135



03

A

B

POS. DESCRIPTION QTY. CODE
POKER HEAD 1" inch 295300-08
POKER HEAD 1 ¼" inch 295500-08
POKER HEAD 1.½" inch 295101-08
POKER HEAD 1.¾" inch 295000-08
POKER HEAD 2.¼" inch 295200-08

1A

POS. DESCRIPTION QTY. CODE
TRANSMISSION 7 ft 297040-07
TRANSMISSION 10 ft 297040-10
TRANSMISSION 13 ft 297040-14

B 1



Unit • Unidad Menmaq Unit • Unidad  Mentec Unit • Unidad  Menfer Unit • Unidad  MNA

United States

Solid values, sustainable future.

RE
V.

 0
0 

| 
JU

NE
/2

02
4


